CODE COMPLETE AE|LC|
16.2~16.4 =X

S [ R —— P, i = [ | 0



= X

=I9| H[Of

Otoj| A 2
L— H} |:I|=I -
I-klé'-: =
= Al &
= il =
e 10.3 &
o=

s
= zo| Hjgo) rf



16.2 22| H|0f

. 219| 2X

i
T
o1
™
K]
ol
L[
<l
.l
m
il -
<0
|| ey
H{ H]
wr 1
~ Ol
Kq o
K
IR G =l
Kl B



16.2 =2 X|

o == SCHHIA T HXH

[ — =2 =

while ( !'"inputFile.EndOfFile() && moreDataAvailable ) {

while (true) ... break 7|'H2 AI2StH S& Z710| 2tZ50]| QIX[SI2Z 0|5
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Bst 2= while (true) S AR
#define FOREVER for (;:)

FOREVER {

}
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incremental index access
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while £Z7} O HEE Of for FEZE AI2SHK] 3
// read all the records from a file
for ( inputFile.MoveToStart(), recordCount = 0; !inputFile.EndOfFile();

recordCount++ ) {
inputFile.GetRecord();

}

recordCount = 0;

for ( inputFile.MoveToStart(); !'inputFile.EndOfFile(); inputFile.GetRecord() ) {
recordCount++;

}

// read all the records from a file

inputFile.MoveToStart();

recordCount = 0;

while ( !"inputFile.EndOfFile() ) {
inputFile.GetRecord( &inputRec[ recordCount ], MAX_CHARS );
recordCount++;
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while ( ( inputChar = cin.get() ) !'= '\n' ) {
}

do {

inputChar = cin.get();
} while ( inputChar !'= '\n' );
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stringIndex = 1;
totalLength
while ( !'inputFile.EndOfFile() ) {

// do the work of the loop

inputFile >> inputString;

strList[ stringIndex ] = inputString;

[
o

// prepare for next pass through the loop--housekeeping

stri i

totatength—totattength+—nputStringlenrgthO+————



16.2 22| H|0f

// some code

1 i 7 St o |
1 = 100;

// more code
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for ( recordCount = 0; recordCount < MAX_RECORDS; recordCount++ ) {
1f ( entry[ recordCount ] == testValue ) {
break;

}
// lots of code

1f ( recordCount < MAX_RECORDS ) {
return( true );

}

else {
return( false );
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do {
node = node->Next;

} while ( node->Next !'= NULL );

safetyCounter = 0;
do {
node = node->Next;

safetyCounters+;

1f ( safetyCounter >= SAFETY_LIMIT ) {
Assert( false, "Internal Error: Safety-Counter Violation." );

} while ( node->Next !'= NULL );
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do {
2o A% Z267) st
break / Exit-For / Exit-Do / goto O
=SI=517]| ol S22 E AIE5HK| 2 break 0|8

break;

breake Z|AZ2, LXEO=E AIE

fowhile Coon i )s
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while ( not eof( file ) ) do

read( record, file )
if ( record.Type| <> targetType ) then
continue

-- process record of targetType

end while

207t continueE X|&SHX| Z2™ &[0|= break 0|8

do {
switch

CALL_CENTER_DOWN:
 REAO 1

break CALL_CENTER_DOWN;

Fowhile oo )s
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for ( int payCodeIdx = 0; payCodeIdx < numPayCodes; payCodeIdx++ ) {

for (int month = 0; month < 12; month++ ) {
for ( int divisionldx = 0; divisionIdx < numDivisions; divisionIdx++ ) {

sum = sum + transaction[ month ][ payCodeldx ][ divisionldx ];

}
for (1 = 0; 1 < numPayCodes; i++ ) {
// lots of code

for ( j =0; j <12; j++ ) {
// lots of code

for (1 = 0; 1 < numDivisions; 1++ ) {
sum = sum + transaction[ j J[ 1 1[ k 1;
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for ( int recordCount = 0; recordCount < MAX_RECORDS; recordCount++ ) {
// looping code that uses recordCount

// intervening code

for ( int recordCount = 0; recordCount < MAX_RECORDS; recordCount++ ) {
// additional looping code that uses a different recordCount

CHEk, C++ AuEe #ol0f M) CiEA s2ie
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14 -- get rate from table
-- add rate to total

2T rate = table[ ]
totalRate = totalRate + rate

3EA rate = table[ census.Age ][ census.Gender ]
totalRate = totalRate + rate

4THA :
For person = firstPerson to lastPerson

rate = table[ census.Age, census.Gender ]
totalRate
End For

totalRate + rate



16.3 FE= = 480 B
O

« S5EHA

« 6CHA

_ OlOj| A BE] oz

For person = firstPerson to lastPerson
rate = table[ census[ person ].Age, census[ person ].Gender ]
totalRate = totalRate + rate

End For

totalRate = 0

For person = firstPerson to lastPerson
rate = table[ census[ person ].Age, census[ person ].Gender ]
totalRate = totalRate + rate

End For
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for ( Int row = 0; row < maxRows; row++ ) {
for ( int column = 0; column < maxCols; column++ ) {

product[ row ][ column ] = a[ row ][ column ] * b[ row ]J[ column ];

}

Product <- a x b



